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(3x 4+ b)? = 9x? + 6bx + b? = ax® + 6x + 1
a=9,b=1
La+b=9+1=10
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(2x = 3y)? — 4(x = Ty)(3x + 2y)

= 4x? — 12xy + 9y? — 4(3x% — 19xy — 14y?)

= 4x% — 12xy + 9y% — 12x2 + 76xy + 56y>

= —8x2 + 64xy + 65y2
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(A2 2] Hol) = (7h2) x (A=)
=(x-3)(x+5)
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@ (a+b)(a-b)=a®-b?
@(a+b)2:a2+2ab+b2

® m(a+b) = ma+ mb

@ (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd

2032 — (200 + 3)2 O|B& ¢ — 200, b — 3 0|21 5}
(a+b)* = a® + 2ab + b* & ©]-&5HH Hr}.
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x> +y? = (x+y)?-2xy
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(4x? = 3x +2)(3x® + 5x2 + 7)

= 12x% 4 20x* + 28x% — 9x* — 15x% — 21x + 6x3 + 10x2 + 14
=12x° + 11x* — 9 4 38x2 — 21x + 14
S124114(-9)+38+(-21)+14=45
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=r+4+4

= (x-3y)? +4(x-3y) +4
=x? - 6xy+9y*> +4x - 12y + 4
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O 1982 @ 1012 ®)47 x 53

@ 101 x 103 ® 203 x 302
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@ 1982 = (200 — 2)?

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)
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17. &4 a, b, ¢ ©l tHot (5x + a)(bx + 6) = 10x2 + cx — 54 & o,
a+b+c 9 & ool

>

> ®Me: 5

(5x + a)(bx + 6) = 5bx* + (30 + ab)x + 6a
5bx? + (30 + ab)x + 6a = 10x? + cx — 54

5b = 10 Lob=2
6a = —54 Soa=-9
304+ab=c, (30—18) =12 Soe=12

ca+b+c=-9+2+12=5
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(x-2y-1)(x-2y-1)
=x2-2xy—x-2xy+ 42 +2y—x+2y+1
=x>—dxy+4y® -2x+4y+1
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